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HISTORY
Paper 11
Time Allowed : 1} Hours] Maximum Marks : 100

Note :— This question paper contains fifty (50) questions with multiple choice
answers. Each question carries two (2) marks, Attempt all questions.

: Which of the following archaeological sites is not matched correctly ?
(A) Adamgarh—Madhya Pradesh (B) Babarkot—Maharashtra
(C) Bagor—Rajasthan (D) Bara—Punjab
2, Consider the following statements about the Vedic Age :
(1) The Royal Covonatio;a is associated with Rajasuya Sacrifice
(2) Land revenue was one-gsixth in it
(3) The Vedic literature have some Non-Sanskrit words also.
(4) The Upanishads are related to religion and philosophy

Give your answer from the codes given below :

Codes :
(A) . (2), (3) and (4) (B) (1), (2) and (3)
(C) (3), (1) and (2) ‘ (D) (4), (1) and (3)

3. Of the following, which is the Commemorative Inscrpiton of Ashoka ?
(A) Rummindei (B) Sanchi
(C) Kosambi ' (D) Kalinga

T.B.C. : 20/14/ET—II 2
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4. Of the following, which is not related to Jainism ?
(A) Ganadhara (B) Syadvada
(C) Niyati' (D) Anekatmavada

5. Of the following inseriptions of Ashoka, which refers to the tribes on his southern

frontier ?
(A) Major Rock Edict II (B) Major Rock Edict IV
(C) Major Rock Edict V (D) Major Rock Edict VIII

6. Consider the following statements about the Literature of Sangam Age :
(1) Though not historical, there is made some important information about
history
(2) The Pandyas, Cholas and Pallavas are x;mntioncd
(3) It is useful for knowing the cultural life
(4) There are made good references to social life

Give your answer from the codes given below :

Codes :
(A) (1), (2) and (3) (BY (2), (3) and (4)
(C) (3), (4) and (1) (D) (4), (1) and (2)

T.B.C. : 20/14/ET—II 4
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7.  Of the following, which place has not yielded the Guild seals ?
(A) Rajghat (B) Bhita
(C) Ahichchhatra . (D) Jalandhar
8. The Satavahanas did not issue the coins :
(A) Gold (B) Lead
(C) Potin ‘ . (D) Copper
9. Of the following, who calls himself as equal to Kalidasa and Bhasa ?
(A) Dandin {B) Mayura
(C) Ravikirti (D) Bhavabhuti

10.  Which of the following revenue terms is not found in the sources of .t.he Gupta

period ?
(A) Udakabhaga (B) Shulka
(C) Udranga (D) Hiranya

T.B.C. : 20N4/ET-11 6
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11. Which Pala inscrption indicates the election of Gopala by people as King ?
(A) Radhanpur and Wani Dindori grants of Govinda II1
(B) The Badal Inscription
(C) Khalimpur inscription of.Dharmapa.la
(D) None of the above

12.  The Chola ruler who made a land grant to & brahmana in the Anbil Plates,

was :

(A) Karikala

(B) Sundara Chola Parantaka II
(C) Parantaka I

(D) Vijyalaya

13. Which of the following forms of marriages were associated with the sale of

bride 7
(A) Rakshasa (B) Paishacha

(C) Arsha (D) Asura

T.B.C. : 20N4/ET—II 8
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14. How many women were included among the 12 Alvars ¥
(A) one (B) two
(C) three (D) none of these

15. Match List I with List I and select the correct answer from the codes given

below the lists :
List 1 (Authors) List IT (Works)
(@) Bharata (1)  Naishadha-Charita
= (b)  Ashvaghosha | (2) . Saundarananda
: (¢) Sri Harsha (3) Bodhisattvadana
(d) Kshemendra (4) Natyashastra
Codes
(@) (b) (e (d)
(A) (2) (4) (1) (3)
(B) (4) (3) (1) (2)
(C) (4) (2) (1 (3)
(D) (2) @ (4) (D

“TB.C. : 2014/ET—I1 10
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16. Given below are two statements, one labelled as Assertion (A) and other labelled

as Reason (R) :
Assertion (A) : The Mauryan art is influenced by foreign elements.
Reason (R) : The Mauryas were in constant touch with many countries.

In the context of the above two statements, which one of the following is

correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and {R) are true but (R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

17. The Khajuraho art does not have one of the following features :

(A) Its architecture is in Nagara style

(B) The main Shikhara has a cluster of miniature shikharas

(C) It has the Brahmanical and Jaina sculptures

(D) There are no semi-divine deities, such as the Nagas and Yakshas, efc.
in it

T.B.C. : 20N4/ET—II 12
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18. Match List I with List IT and select the correct answer from the codes given

below the lists :
List 1 (Original Name) List I (Adopted Name/Title)
(@) Farid . (i)  Islam Shah
(b) Jalal Khan (i) Noor Mahal
(¢) Mehr-ur-nisa (i1i) Mumtaz Mahal
(d) Arzumand Bano (iv) Sher Shah
Codes :
(a) (b) (e) (d)
(A) (iw) @) (ir) (ud)
(B) (@) (i) (i) (iv)
(C) (iv) (1) (iaf) (i)
(D) (1) (iv) (1) (iid)

19. Chachnama, an early 8th Century source, was originally written in :
(A) Sanskrit (B) Pali

(C) Persian (D) Arabic

T.B.C. : 20N4/ET—II 14
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21.

Khutba is :

(A) a robe of honour

(B) the recital of sermon. after the Congregational Friday prayer
{(C) the right to coin money

(D) none of the above

Who proclaimed that the mason and stone cutters of Delhi were superior to

their fellow craftsmen in the whole Muslim world ?
(A) Minhaj Siraj (B) Zia-ud-din Barani
(C) Amir Khusrau (D) Ibn Batutah

Hill chief Raja Rajroop of Mau Nurpur played distinguished ‘role' in getting

victory for Aurangzeb against Dara Shikoh in the battle of succession

fought at :
{A) Dharmat (B) Samugarh
(C) Deorai (D) Thatta

T.B.C. : 20N4/ET—II 16
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23. Sama was mainly pract.ised' by the :
(A) Sufis of Chisti Silsilah
(B) Sufis of Suhrawardi Silsilah
(C) Sufis of Nagshbandi Silsilah
(D) Sufis of Firdausia Silsilah

24. The decline in the position of women in V‘ﬁayanagar empire is attributed

-

generally to : <
(A) Purdah (B) Sati
(C) Polygamy (D) Both (B) and (C)

9% Which Sultan of Delhi brought the Ashokan Pillar to Delhi ?
(A) Balban
(B) Alauddin Khalji
(C) Firuzshah Tughlag

(D) Bahlol Lodi

TB.C. : 20N4/ET—I1 18
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26. Match List I with List IT and select the correct answer from the codes given

* below the lists :

List I (Book) List II (Subject)
(@) Rajtarangini (1) a work on Arithmetic
(b) Lilavati . {2) a work on Religions
(¢) Tajik (3) a work on History
(d) Dabistan-i-Mazahib (4) a work on Astronomy
Codes '

(a) (&) (e) (d)

“ (A) (2) (3) It 4

(B) (3) (0 | ) (2)
(C) (1) (2) (3) (4)
) (4) (1 2) (3)

7.7 Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Alberuni gives a detailed description of the Antyaja.
Reason (R) : It was a.homogenous' social group,

In the context of the above two statements, which one of the following is
correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
TB.C. : 2014/ET—II 20
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98. According to local traditions (Kaiftyats) recorded in the early Nineteenth
Century, the man who would take Warangal in 1504 began life not as Shitab

Khan but as :
(A) Sitapati or Sitadu
(B) Avasarala
{C) Peddiraju or Niyogi
(D) Burhan Khan or Burhan Shah
29. 'The title of Farzand was given by Akbar to :
(A) Mirza Abdur Rahim Khan-i-Khana
(B) Mirza Manohar Shaikhawat
(C) Raja Man Singh
(D) Mota Raja Udai Singh
30. Name the Sikh Guru who supported Khosrau against Jahangir ?
(A) Guru Ram Das (B) Guru Hargobind
(C) Guru Arjun (D) Guru Harkishan

T.B.C. : 20114/ET—1I 22
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31. The correct name of the mosque built at Mehrauli is :

(A) Quwwat-ul Islam (B) Qubbat-ul Islam

(C) Qamar-ul Islam (D) Nur-ul Islam

32. Who among the following Sufi saints did not belong to the ‘Chisti Order
(Silsilah) :
(A) Shaikh Hamiduddin Nagori
(B) Shaikh Bahauddin Zakaria
(C) Khwaja Qutbuddin Bakhtiyar Kaki
(D) Shaikh Nizamuddin Auliya
33. Which of the following Sultans tried to abolish Sati ?
(A) Itutmish (B) Balban
(C) Alauddin Khalji (D) Muhammad Tughlag

T.B.C. : 20114/ET—II 24



31, Wﬂiﬂﬁﬁz{auﬂmm‘aﬁmt:
() oI T (B) -3 sEm
(C) FH-TA TN ) - v
32, ﬁm‘wﬁiﬂMWmmﬁﬂﬁt?
(A) ¥ ErigEE TG
(B)ﬂ'@m.m
(C) TN wEEEA Ateadt Fh
) W G s
33. mﬁ%mgﬁn%mﬂmﬂmmﬁﬁﬁmﬁ?
(A) yEgaE (B) #&E

() e faest (D) TERE T

T.B.C. : 2014/ET—II 25 ' P.T.O.



34,

In which year was the Diwani of Bengal, Bihar and Orissa granted to the

British East India Company ?
(A) 1757 (B) 1754
(C) 1764 (D) 1765

Which one of the following magazines was not associated with the growth

of the women education ?
(A) Digdarshan

(B) Bharat Mahila

(C) Mabhila

(D) Bharati

Towards which state did the British Raj adopt the policy of ‘Masterly

Inactivity’ ?
(A) Burma (B) Sri Lanka
(C) Afghanistan - (D) Persia

T.B.C. : 20N4/ET—II ' 26
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37. Which of the following is wrongly matched ?

(A) Charles Grant —  Evangelical Scholar
(B) J.C. Marshman —  Orientalist Scholar
(C) James Mill —  Utilitarian Scholar
(D) W.W. Hunter —  Administrator Scholar

38. Consider the following events and select the correct answer from the codes

given below :

(1) Macaulay Minut;e-s on Education
(ii) Charles Wood's Dispatch

(#i) Hunter Commission

(iv) Hartog Commission

Codes :

The correct chronological order is :

(A () (i) (if) (@)
B) i) @ (iv) (id)
© o (iv) (i) (i)
™ @ (id) (i) (iv)
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'89. Who among the following was not one of the Generals of the British East

India Company during the Upriging of 1857 ?
(A) James Outram (B) Hugh Rose
(C) John Shore . {D) John Lawrence

40. Match List T with List II and select the correct answer from the codes given

below the lists :
List 1 List II
(@) Mahatma Gandhi (1y New India

(b) J.C. Marshman (2) Friend of India

© Surendernath Bannerjee (3) Young India

(d) Annie Besant (4) Bengali
Codes :
(a) &) (e) (d)
(A) (3) (2) (4) (1)
(B) (3) _ (4) (1) (2)
(C) (1) (2) (3) . (4)
(D) (2) (3) 4 (1)
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41.

42,

Who was the Governor General of India at the time of Second Anglo-Burmese

War ?

(A) Lord Auckland

(B) Lord Ellenborough

(C) Lord Dalhousie

(D) Lord Canx:lns .

Who was the author of the book entitled, ‘India Today ?
(A) R.C. Dutt (B) R.P. Dutt

(C) Dadabhai Naoroji (D) Llhl‘ Lajpat Rai

Which one of the following was not a centre of the cotton textile industry

during the 20th Century ?
(A) Bombay (B) Sholapur

(C) Lahore (D) Ahmedabad

T.B.C, : 2014/ET--II 32
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(AN WE AT
(B) = wfwEm
(C) wME wwdst
(D) @rE HFm
42, "sﬁimgi’mw%mmmm?
(A) FRA. ZW (B) sm.dl &%
() wwEnad Aif (D) e E9E T3

43, 204 vt # ¥wm, frefefen § ¥ Fe e R oawm sEm oW B T8

q ?
(A) s (B) i@
(C) ®mER (D) EEEAER
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44. Which one of the following Round Table Conferences was attended by

Gandhiji ?

(A) Did not attend any conference
(B) Third Conference

(C) TFirst Conference

(D) Second Conference

45. Match List T with List IT and select the correct answer from the codes given

below the lists :

List T
(@ C.R. Das
() Ram Manohar Lohiya
ey S.A. Dange
(d) Subhash Chandra Bose
Codes :

(a) (b) (e)
(A) (4) (3) (2)
(B) (1) (2) (3)
(C) (1) 4) (2)
(D) (2) (1) (4)
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(1)
(2)
(3)

(4)

(d)
(1
(4)
(3

3)

List II

Swaraj Party

Congress Socialist Party
Communist Party of India

Forward Bloc



44, TR F Frefefae 8 & et Te G wehw S e o w2

(A) Toeh o sy d

(B) =t =twa |

(C) weelt =y §
(D) T wwg ¥
45 g1 F g1 F g Fifm aw gReEl @ RS foomg w2 @ wl s W

w2 wifey .

(@)
(b)
(e)

(d)

(A)
(B)
(C)

(D)
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(1)
(2)
(3)

(4)

(d)
(1)
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(3)
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47.

Name the revolutionary, who sacrificed his life after observing 63 days of

hunger strike in the jail ?
(A) Jatin Das (B) Bhagwati Charan Vohra
(C) BK Dutt (D) Ajay Kumar Ghosh

Who was elected as the President of the Indian National Congress in the

years 1936 and 1937 ?

(A) Vallabhbhai Patel

(B) Rajendra Prasad

(C) Jawsharlal Nehru

(D) Subhash Chandra Bose

In which year were the First General Elections held in Independent

India ?
(A) 1952 (B) 1850
(C) 1951 (D) 1949
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46. 3 Ftasrt =1 W F0ny fowd 9@ 1 63 &9 & FvR § gvem s ofEa =

afeem w1 R ?
(A) wfim zm ., (B) v = D
(€) #B. =9 (D) 99 FAR =99

47, @d 1936 41 1937 ¥ Wiy utm FhW w1 gy fEww g o @ 2
(A) FEAIWE TE
(B) = R
(C) earREE TeE
(D) 9™ I 4W
48. R v ¥ W 99 ¥ RS &M g9e #E M g 7

(A) 1952 (B} 1950

(C) 1951 (D) 1949
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49.

The first chairman of the National Planning Commission of Independent India

was !
(A) V.P, Menon (B) V.K.RV, Rao
(C) K.P.S. Menon . (D) Jawaharlal Nehru

Given below are two statements, one labelled as Assertion (A) and other labelled

as Reason (R) :

Assertion (A) : The peasant class and labour class actively participated during

the Civil Disobedience Movement under the leadership of Gandhiji.

Reason (R) : The mass Movements under the leadership of Gandhiji were

aimed at to erode the political power of the British Raj in India.

In the context of the above two statements, which of the following is

correct 7
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation

of (A)
(© (A) is true but (R) is false

(D) (A) is false but (R) is true
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49, AR WG B TSR A SEm F Tew smE w1 a2
(A) 9. W (B) .. 7= =1, 19
(C) #uuaE 97 (D) FaEEE '-‘rw

50. 9 W T By M E o A F (A) wW o™ E AR @ A w (R) wW

™ ¥

FAT (A) : TS F FgE F sl BT s Ao § e o e et

i 3 wfwg wm fom an C

/A (R) : M4 % Fqd § avoia fvu T - snEe W 9avm 9na 4 fafem

T ® erEfaeE wiE F uEE w9

sdF A e @ wed d frefafas § @ @nm wd € 2
(A) (A) 3 (R) 2 =& & 9w (A) #1 = =En (R) ®

(B) (A) 3t (R) 3 wd §, b (A) & =@ =5 (R) o8 ¢
(C) (A) 781 & fomg (R) 7o &

(D) (A) e & fog (R) o9t %
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